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Question 1 
 
Intent of Question  
 
The primary goals of this question were to assess a student’s ability to (1) identify various values in regression 
computer output; (2) interpret the intercept of a regression line in context; (3) interpret the coefficient of 

determination 2( )r  in context; and (4) identify an outlier from a scatterplot. 

 
Solution 
 
Part (a): 
 

The estimate of the intercept is 72.95. It is estimated that the average time to finish checkout if there are no 
other customers in line is 72.95 seconds. 
 

Part (b): 
 

The coefficient of determination is 2 73.33%.r  This value indicates that 73.33% of the variability in the 
times it takes customers to finish checkout, including time waiting in line, can be explained by knowing how 
many customers are in line in front of the selected customer.   
 

Part (c): 
 

The outlier is the point with 3x  and y close to 0.  This point is considered an outlier because the 
combination of x and y values differs from the pattern of the rest of the data. Specifically, the value of y 
(time to finish checkout) is much lower than would be expected when there are 3x  customers in line in 
front of the selected customer, given the remaining data.   

 
Scoring 
 
Parts (a), (b), and (c) are scored as essentially correct (E), partially correct (P), or incorrect (I). 
 
Part (a) is scored as follows: 
 

Essentially correct (E) if the response satisfies the following three components: 
1. Correctly identifies 72.95 as the intercept. 
2. Communicates the concept of a y -intercept in a context that includes both time and zero customers.  
3. Indicates that the value of the intercept is a prediction by using language such as “predicted,” 

“estimated,” or “average” value of y.  
 

Partially correct (P) if the response includes only two of the three components. 
 
Incorrect (I) if the response includes at most one of the three components. 
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Question 1 (continued) 
 

Notes: 
 Regression equations (such as ˆ 72.95 174.40 y x ) cannot be used to satisfy identification of the 

intercept in component 1, unless the intercept is explicitly labeled as such.  
 A regression equation cannot be used to satisfy component 3.  
 Incorrect regression equations are treated as extraneous and do not affect the scoring of any component. 
 A response that interprets 72.95 as a slope does not satisfy components 1 or 2. 

 
Part (b) is scored as follows: 
 

Essentially correct (E) if the response satisfies the following three components: 
1. Correctly identifies 73.33% as the coefficient of determination. 

2. Provides a correct (possibly generic) interpretation of 2.r   
3. Interpretation includes context.  
 

Partially correct (P) if the response satisfies only two of the three components; 
 OR 
if the response satisfies the three components, but reverses the roles of number of customers in line and time 
to finish checkout in the interpretation. 
 
Incorrect (I) if the response satisfies at most one of the three components. 

 
Notes: 

 In component 2 the correct interpretation of the coefficient of determination can take any of several 
equivalent forms, such as: 

o The percent variability in y that is attributed to the linear relationship between y and x or 
between x and y. 

o The proportion of the total variability in the dependent variable y that is explained by the 
independent variable x.  

o The proportion of variation in y that is accounted for by the linear model. 
o The proportionate reduction of total variation of the y values that is associated with the use of the 

independent variable x. 
o The proportionate reduction in the sum of the squares of vertical deviations obtained by using the 

least-squares line instead of the naïve prediction of y . 

 In component 2 common incorrect interpretations of the coefficient of determination include:  
o The percent variability in the predicted y values that is explained by the linear relationship 

between y and x. 
o The percent variability in the data that is explained by the linear relationship between y and x. 
o The percent variability that is explained by the linear relationship between y and x. 
o The percent variability in y that is on average explained by the linear relationship between y  

and x. 
 For component 3 context must include mention of time or customers.  
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Question 1 (continued) 
 
Part (c) is scored as follows: 

 
Essentially correct (E) if the response satisfies the following two components: 

1. Correctly identifies the outlier. 
2. Describes an unusual feature of the identified scatter plot point, relative to the remaining data points, 

that is sufficient to identify it as the outlier. Examples include: 
 The combination of x and y values is unusual compared to the other points. 
 The value of y is much lower than would be expected (or predicted), given the remaining 

data. 
 The residual for the point is unusually large relative to the other residuals. 

 
Partially correct (P) if the response satisfies component 1 but does not satisfy component 2.  

 
Incorrect (I) if the response does not meet the criteria for E or P. 

 
Notes: 

 In the absence of any point being circled on the graph, component 1 can still be satisfied by explicitly 
referring to the coordinates of the outlier. Valid coordinates for outlier identification must specify an x 
value of 3 and a y value that is strictly between 0 and 250.  

 A response that does not make a comparison to the remaining data points, such as stating the outlier has a 
large residual or is nowhere near the regression line, does not satisfy component 2.  

 A response that makes a comparison to the remaining data points based upon an unusual feature that is 
insufficient for outlier identification, such as stating the point is the only point with that particular y value, 
does not satisfy component 2. 

 In the absence of explicit numerical calculation, a response that appeals to the influence that the outlier 
has on the regression coefficient estimates or on the sample correlation coefficient does not satisfy 
component 2.  
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Question 1 (continued) 
 
4 Complete Response 

   
   Three parts essentially correct 
  
 3 Substantial Response  
 
   Two parts essentially correct and one part partially correct 
 
 2 Developing Response 
 
   Two parts essentially correct and no parts partially correct 
  OR 
   One part essentially correct and one or two parts partially correct 
  OR 
   Three parts partially correct 
 
 1 Minimal Response 
 
   One part essentially correct 
  OR 
   No parts essentially correct and two parts partially correct 



STATISTICS 

SECTION II 

PartA 

Questions 1 �5 

Spend about 1 hour and 5 minutes on this part of the exam. 

Percent of Section II score-75 

Directions: Show all your work. fudicate clearly the methods you use, because you will be scored on the 
correctness of your methods as well as on the accuracy and completeness of your results• and explanations. 

1 A--
- · 

L The manager of a grocery store selected a random sample of 11 customers to investigate the relationship 
between the number of customers in a checkout line. and the time to finish checkout. As soon as the selected 
c�tom_�.r-�!!rce.!.��.h�k®tliire,-dat��te.<1.ii.ii the number.9f.cii_s��lii.Jm��W.b9�)Vere in 
froritof the sel�-eustomer--and-·the-ti:me, in seconds, until the selected customer was finished with the 
checkout. flie-·data are shown in the foijowing scatterplot along with the corresponding least-squares regression 
line and computer output. 

1,250 

1,000 

f 750
"' .

'-' 

8 500 

250 

Predictor 
Constant 

Customers in line 

Unauthorized copying or reuse of 
any part of this p11ge ls llleglll. 

S = 200.01 

Customers in Line 

Coef 
72.95 

174.40 

SECoef 
110.36 
35.06 

R-Sq = 73.33%

-6-

7 

T 
0.66 

4.97 

P. 
·0.$25
0.001

R-Sq (adj)� 70.37%
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( a) Identify and interpret in context the estimate of the intercept for the least-squares regression line .
. '\(/'(',, '-) \V'.\tictf\' ts 11..ll\5 <;.Hc.,"\.A_<i,. \� \\;1.,W<, C,Wt, \.AO \H,vf\.{. \V\. ffwi-½-

� � tV,'(U\f{\:t,V I \Nl, v.iuv\c\ O\lU-\( -\'l,,L,M tL> \)t, fwt\Shl.tJ\ \fv\t'v\

C,W.X,\i..ov\-' \V\ Tl.. C\S .:Z,t.uJi\tAS. 

(b) Identify and interpret in context the coefficient of determination, r
2

• 

v-,. \C-. l ?i .1-i?., % . , '1i .0 'i; % u+. ri,,\9, vi\"' £1'.,\\Wl tv" LW-Ll<.ov-\- t\V'V'l
I:> Cl.,(,{()vV\\-� tw l.']<f t\N,. l\'f'lti,'\V yt,\t'\t\�'l�\.--\f- \1t.tWUt1 tv;.tt,vn,tv{
'"' \nu. �lf\o\ C,\'\.U,\(., Ov+-' ·H V\'\t -

( c) One of the data points was determined to be an outlier. Circle the point on the scatterplot and explain why
the point is consi,dered an outlier.

IVtlA v '(lu I r1t 1c; ov} uv'-\ ,e,v l.7t-Cl.A v<.e, H· dots v,1/t Iv\\ c,,w '\iA..t
ptA.-t\lVV\ -H"\L vu\- t;t- tVV. cl,.t,--Jl, p,,>\Vl"(
\JtV"1 fJAv fyuv'V' #1,L VLW �t )1''\.C C{�Tb'\.
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STATISTICS 

SECTIONII 

Part A 

Questions 1-5 

Spend about 1 hour and.5 minutes on this part of the exam. 

Percent of Section II score-75 

Directions: Show all your work. Indicate clearly the methods you use, because you will be scored on the 
correctnl')ss of your methods as well. as on the accuracy and completeness of your results and explanations. 

I. The manager of a grocery store selected a random sample of 11 customers to investigate the relationship
between the number of customers in a checkout line and the time to finish checkout. As soon as the selected
customer entered the end of a checkout line, data were collected on the number of customers in line who were in
front of the selected customer and the time, in seconds, until the selected customer was finished with the
checkout. The da-ta are shown in the following scatterplot along with the corresponding least-squares regression
line and computer output.

1,250 

1,000 

750 
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Customers in line 

Ul'IB.uthorized copyjng or reuse of 
any part of this page is illegal. 

S = 200.01 

1 2 3 4 5 6 7 
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Coef SECoef T p 

72.95 110.36 0.66 0.525 
174.40 35.06 4.97 0.001 

R-Sq = 73.33% R-Sq (adj)= 70.37%
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(a) Identify and interpret in context the estimate of the intercept for the least-squares regression line.

1k �\(1\i\--e_ of t\)t jt)fttt:epr} w\"\\{,f) i5 .. 72 d q5 5,e{.Of\J�/

rteu"s �r it � ore. ro eu�torners t(\ ¾ lire/ 
l_'J.-1'",/) --A l,.e � .J.. mD JR r . J'\ dr-..!:Yr ''""•f. ·.. _,.. o:-�. . 
t l V \""'"" '-,Vi t I ,Q,· -pi.. I\._ ,o nn;-s Ht.'-N.i'lalr i� Ii... ,� .semr1CS ..

(b) Identify and interpret in context the coefficient of determination, r2
. 

\'0e_, r1 �a\v.e. of l').'33 °lo ('("Con� fr-0-+-' Ci'oout- 73,:;) o/.o

of- fr.e.. \jO.(\Ctt\d'i of {itf\6 10 f11)1)h Chtc�Ol,\r / 'l
., 

(Do be expbi1\cl 
b,i ?,� ·.leu_.ar-�1i,,rt,'> r�r�o{\ lint of ro� cw�.r·f:. it; z " i ,.;"1)""' _ · ii � ,. \., , , f i Uff, 1 A I

on� -hr� 10 .f \{)\i h e'ht(.-ft61J. 1"; 'j.- .• 

( c) One of the data points was determined to be an outlier. Circle the point on the scatterplot and explain why
the point is considered an outlier.

ms �!'( l5 (onS\�feO � � _!JJJ}·lrer bec.aLtSe }t-5 uah.ie 
iS ¥ti� .fcrr f-r-a� +·he pre�;cteo Vet)ttte of 1fc leP-'Sr�w,.p{"s<e

5
I '-'· • ' •' \ • .1 L _ 1 l " retre�'11°'"' i,r:ti! ,re po\�f'} t'.li� r:; a�r.ir ,oo wh�ie ,� 

f�re Off � �'5f<l,ffl.?r.S [� h�" l ./�� t:SB'L� prtd;c.t� , ct 'flluf,, .. 
of' etbo��- G(X). 
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STATISTICS 

SECTION II 

PartA 

Questions 1-5 

Spend about 1 hour and 5 minutes on this part of the exam. 

Percent of Section Il score-75 

J)irections: Show all your work. Indicate clearly the methods you use, because you will be scored on the 
correctness of your methods as well as on the accuracy and completeness of your results and explanations. 

A l.r ,I '-­__ L-

1. The manager of a grocery store selected a random sample of 11 customers to investigate the relationship
between the number of customers in a checkout line and the time to finish checkout. As soon as the selected
customer entered the end of a checkout line, data were collected on the number of customers in line who were in
front of the selected customer and the time, in seconds, until the selected customer was finished with the
checkout. The data are shown in the following scatterplot along with the corresponding least-squares regression
line and computer output.
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1,000 
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Predictor 
·constant
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Unauthorized copying or reuse of 
any part of this page is illegal. 

S = 200.01 

I 2 

Customers in Line 

Coef 
72.95 

174.40 

SECoef 
110.36 
35.06 

R-Sq = 73.33%

-6-

7 

T 
0.66 
4.97 

p 

0.525 
0.001 

R-Sq (adj) = 70.37% 
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(a) Identify and interpret in context the estimate of the intercept for the least-squares regression line.
' 1k {,<.,\--;�e, 
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(b) Identify and interpret in context the coefficient of determination, r2 •
r '")_ -ls J·,vl-r, \'i tk ".,,-\-p,.,,+- A.<:> 10, 2> 1 "(o 

1 
� D., b � 1, 
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j 
+te.. l 6\.,� \- - s 1, v6-.r l,,'.) ,,. � r <.,,� <:. �12.,,; l ; "t.. _

( c) One of the data points was determined to be an outlier. Circle the point on the scatterplot and explain why
the point is considered an outlier.
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Question 1 

Overview 

The primary goals of this question were to assess a student’s ability to (1) identify various values in regression 
computer output; (2) interpret the intercept of a regression line in context; (3) interpret the coefficient of 
determination in context; and (4) identify an outlier from a scatterplot. 

Sample: 1A 
Score: 4 

In part (a) the response correctly recognizes the value of the intercept, satisfying component 1. The response then 
communicates the concept of an intercept using context that incorporates both time and zero customers; this satisfies 
component 2. Because the interpretation of the intercept indicates that the value is a prediction, as indicated by “we 
would expect them to be finished with checkout in 72.95 seconds,” component 3 is satisfied. This response includes 
all three components; therefore, part (a) was scored as essentially correct. In part (b) the response correctly 

recognizes the value of 2,r  satisfying component 1. The response provides a correct interpretation of 2;r  this 
satisfies component 2. Because the interpretation is made using context, component 3 is satisfied. The response 
includes all three components; therefore, part (b) was scored as essentially correct. In part (c) the outlier is circled on 
the scatterplot, satisfying component 1. The response gives valid reasoning why the circled point is the outlier, 
relative to the remaining data points, by stating the circled point “does not follow the pattern the rest of the data 
points follow,” and that the circled point is “very far from the rest of the data.” Component 2 is satisfied. The 
response includes both components; therefore, part (c) was scored as essentially correct. Because three parts were 
scored as essentially correct, the response earned a score of 4. 

Sample: 1B 
Score: 3 

In part (a) the response correctly recognizes the value of the intercept, satisfying component 1. The response also 
communicates the concept of an intercept using context that incorporates both time and zero customers; this satisfies 
component 2. Because the interpretation of the intercept indicates that the value is a prediction, as indicated by “the 
predicted time to finish checkout,” component 3 is satisfied. The response includes all three components; therefore, 

part (a) was scored as essentially correct. In part (b) the response correctly recognizes the value of 2,r  satisfying 

component 1. The response provides a correct interpretation of 2;r  this satisfies component 2. Because the 
interpretation is made using context, component 3 is satisfied. The response includes all three components; therefore, 
part (b) was scored as essentially correct. In part (c) the outlier is circled on the scatterplot, satisfying component 1. 
The response does not, however, give sufficient reasoning to explain why the circled point is the outlier. The 
statement, “its value is very far from the predicted value of the least-squares regression line,” does not make a 
comparison to the variation in the remaining data points, nor does it reference the distance between the y-coordinate 
of the circled point and the value of the prediction at 3.x  Therefore, in the absence of any comparison against the 
distances of all other points to the regression line, the response does not satisfy component 2. The response includes 
component 1 but not component 2; therefore, part (c) was scored as partially correct. Because two parts were scored 
as essentially correct, and one part was scored as partially correct, the response earned a score of 3. 
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Question 1 (continued) 

Sample: 1C 
Score: 2 
 
In part (a) the response correctly recognizes the value of the intercept, satisfying component 1. The response then 
communicates the concept of an intercept using context that incorporates both time and zero customers; this satisfies 
component 2. The interpretation of the intercept indicates that the value is a prediction in two different ways; the 
first is indicated by “one would expect the time to finish checkout to be,” and the other is indicated by 
“approximately.” Either of these indications satisfies component 3. The response includes all three components; 

therefore, part (a) was scored as essentially correct. In part (b) the response gives an incorrect value of 2,r  so 

component 1 is not satisfied. The response incorrectly interprets 2r  in terms of the percent of the variance in “results 
from the expected times,” instead of percent variance in the observed times. Therefore the response does not satisfy 
component 2. Because the interpretation is made using context, component 3 is satisfied. The response includes only 
one of the three components, consequently, part (b) was scored as incorrect. In part (c) the outlier is circled on the 
scatterplot, satisfying component 1. The response gives valid reasoning why the circled point is the outlier by stating 
the circled point is “significantly farther from the regression line … than any other point.” It is this portion of the 
response that compares the circled point to the remaining data points and, therefore, the response satisfies 
component 2. Because the response includes both components, part (c) was scored as essentially correct. Because 
two parts were scored as essentially correct, and one part was scored as incorrect, the response earned a score of 2.  
 


	ap18_apc_cover_statistics_question 1
	q1 Pages from ap18_sg_statistics
	q1 Pages from Statistics_APC_Final
	ap18_apc_statistics_commentary_q1_final


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




